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By the end of this unit you should be able to:
* e square and cube roots

* Cdculate the hypotenuse
*  Find a missing side in a Right angled
trigngle

Opposite: the side oppostte the angle of interest
Odjacent: the side next to the ange of interest

*+  Use Pythagoras” theorem on axes
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|« ldentify the hypotenuse
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: * Explore proofs of Pythagoras” theorem

45 = hypotenuse?

144 —144

Rearrange the equation by subtracting the shorter

2 To find the
ypotense square from the hypotenuse squared

square root the V45 = hypotenuse Sqware oot to [ b2 =111
sum of the find the length

squares of the ~ 6.71cm = hypotenuse of the s b =V111 = 10.54 cm
shorter sides
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Square number: the output of a number multipled by itself
Square. root: a valve. that can be muttipled by itself to give a square number
Hypotenuse: the largest side on ai right angled triangle. Olaus oppostte the right dngle

eorem

| | The kengths of a and b are the

a? + b?> = hypotenuse?
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sides of the triange

Be careful to check the scake on the axes
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| Squares and square roots @) sty | Identify the hypotenuse |
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| Determine if a triangle is right-angled H Tl s il |
: 1 longest side on a triangle because it |
If a triangke s right-angled, the sum of the squares of the shorter sides wil equal the is opposite the biggest angle |
| Il |
| square. of the hypotenuse 1 |
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| 2 a? + b? = hypotenuse? [l :
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_ . jgors can stil have. a
| &9 a22+b2 2_ hy ;zotenusez Sustituting the numbers info the l: - hupotgnuse ff it is spit up into |
| 32442=75 } theorem shows that this s a | triangkes and opposte a right. |
|L 03 b-4 ¢-5 9 +16 = 25 right-angled triangle H ande |
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| Calculite the hupotenuse | Calculate missing sides || Puthagoras’ theorem on a |
' 6 . Ether of the | | Either of the II coordnate axss :
3cm ekl shortsdes | | Hypotenuse 15 cm short sides |
. can be | | wnbe | : Find the. length of the ine segment :
Hupot doeled giorb | obeled aorb 1 64— / |
ypotenuse | : D 12cm :| i — i The segment can |
| | VAR RS be made into a |
a? + b? = hypotenuse? I : a? + b%? = hypotenuse? I| Z — right-angled |
| | : |, ’ ' triange by addng |
| 122+p2 = 152 | thesidesonthe |
| Substitute in the | [ °
3°+6% = hypotenuse? : | | Substitute in the values you dre given |: orEsese digram :
9 + 36 = hypotenuse? | : 144 + b? = 225 I| The ne segment is the hypotenuse |
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